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Выполнить задания.
Почта - zuleyha.aydemirova@mail.ru 

Заполнить пропуски глаголом to be и перевести предложения.
1. The bag … in the desk.
2. We … in the park.
3. The car … in the street.
4. I … in the bus.
5. The girl … in the garden.
6. The tree … green.
7. I … a little girl.
8. It … a big book.
9. The bench in the park … green.

Заполнить пропуски глаголом to have got и перевести предложения.
1. The girl … a red apple.
2. I … a green hat.
3. Ann … eleven pencils.
4. He … a green shirt.
5. We … three birds.
6. She … a black bag.
7. I … a large sledge.
8. She … a little chick in her hand.
9. Sam … a big book in his hand.
10. I … a red dress with a black belt.
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